EERHRET
RSl
SERET
THEZEET
REL

= 6.0m+ 6.0m+95m=
= 6.0mx95. Om=
= 6.0mx95. Om=
= 6.0mx95. Om=

107.0m
570. Om2
570. Om2
570. Om2

FEH

BRI
SEIRITET 195 0n 600 _

HIX

L
\

T (BAEZHEAS20F) t=bcm

| RpEEEIE T (RC-40) #E#1cm

ERRHERFT 1




FEH

it T X

U

[l =

REI (BEZHEAS20F) t=5cn

TREEEIET (RC-40) ##E#1cm

ERHET2
SR L=110.0m+ 2.0m+ 5.0m= 117.0m
WERBET A=110.0mx 2. 0m= 220. 0m2
RHERET A=110.0mx 2.0m= 220. 0m2
®BT A=110.0mx 2.0m= 220. 0m2

E R T 2




ERMERET 3
KRIEY

R L (RC-40)

M REREBRE

(0.30mx 0.41m) + (0.3mx 0.47m) =
0.26mx 5.00m =
(0.30mx 0.41m) + (0.3mx 0.47m) =
0.26mx 5.00m =

TEE
ERHMRTS

0. 26m2
1. 3m3
0. 26m2
1.3m3
5.0m

SHERREIET (15emLLT)
HERBET EESRE)
SEMMET (SER)
TEEET

ErERR

RET

6. 400

TEIT (BAEZFHEAS20F) t=bcm

s (AR E D) t=6om

SEEERIE T (RC-40 1cm

L= 6.4m+ 6.4m+ 1.3m+ 1.3m+ 5.0m=
A= 6.4mx 5. 0m=

A= 1.0mx 5.0m=

A= 6.4mx 5.0m+ 1.0mx 5 Om=

A= 6.4mx 5.0m=

A= 6.4mx 5.0m+ 1.0mx 5. Om=

RET (EEZEHEAs20F) t=bcm

SEEERIE T (RC-40 1cm

20.4m
32. 0m2

5. 0m2
37. 0m2
32. 0m2
37. 0m2

ERRHERF T 3




ERERET 4
KRIEY

R L (RC-40)

TR R E
BEMRE

(0. 30m x
0. 30m x
(0. 30m x
0. 30m x

0. 16m x

0.52m) + (0.3mx 0.47m) =
10. 00m=
0.52m) + (0.3mx 0.47m) =
10. 00m=

10. 00m=

FmEE
BB T 4

0. 30m2
3. 0m3
0. 30m2
3.0m3
10.0m
1.6m3

LR EIBT (15cmELT)
SHERBET EEGDRER)
BERBET EEAR)
TREEET

LERE

RET

L= 6.5m + 2.0m + 2.0m +10.0m =

A=10.0 mx 2.0m

A=(10.0m + 6.5m ) x 2.0m + 2=

A= 20.0m2+16. 5m2
A= 10.0mx 2.0m =
A= 20.0m2+16. 5m2

2,000

EITX

2

2,000

| RET (BEZHEAS20F) t=5cm

I

SEEERIE T (RC-40 1cm
H 2R EAs20F) t=bcm

HAsEENIE) t=6cm

pEEEIF T (RC-40

20.5m
20. Om2
16. 5m2
36. 5m2
20. 0m2
36. 5m2

lcm

EERHERFT 4




FmE
ER#EETIS

e T

5,000

REI (BEZHEAS20F) t=5cn

TREEEIE T (RC-40) #HE#1cm

HEEHHFTS
SRR L= 5.0m+ 5.0m 10.0m
SERBET A=100.0mx 5.0m= 500. Om2
TREEEET A=100.0mx 5.0m= 500. Om2
®EL A=100.0mx 5.0m= 500. Om2

ERHEFETS




ERHET6
RSl
SERET
THEZEET
EERET
RET
RE#HRT

7.2m+ 7.2m+ 7.2m+7. 2m=
4.0mx 7.2mx 2=
4.0mx 7.2mx 2=
4.0mx 7.2mx 2=
4.0mx 7.2mx 2=
4.0m+ 4.0m+ 4.0m+4.0m=

FmEE
ERAHET 6

28.8m
57. 6m2
57. 6m2
57. 6m2
57. 6m2
16.0m

EITX

1,200

RET (BEAEZEHEAS20F) t=bcm
L EIREE (EAASTTFENIE) t=6cm

~pEEEIF T (RC-40

lcm

ERGHERF T 6




